
3/5/2021 CONTROL ENGINEERING (17ME73/15ME73) IAT 1

https://docs.google.com/forms/d/e/1FAIpQLSf5eimKynvILWftXsl2WUeghXJv44GZ0ubRc0YSiKYI_-FQlA/viewform?entry.1601986315=Linear+system… 1/10

2 points

Linear systems

Time invariant systems

Closed Systems

Discrete systems

2 points

Reference input

Reference output

Output and feedback signal

Input and feedback signal

CONTROL ENGINEERING
(17ME73/15ME73) IAT 1
1 HOUR 
50 MARKS

Your email address will be recorded when you submit this form.

Not shashank.d@cmrit.ac.in? Switch account

* Required

The principle of homogeneity and superposition are applied to: *

The output of the feedback control system must be a function of: *
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Zero
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A linear system at rest is subject to an input signal r(t)=1-exp(-t). The
response of the system for t>0 is given by c(t)=1-exp(-2t). The transfer
function of the system is: *

Zeros of transfer function are the laplace transform variable values which
causes the transfer function to become ___________ *
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V(s) = I(s)[ (1/sR) + (1/sC) ]

V(s) = I(s)[ (sR) + (1/C) ]

V(s) = I(s)[ (R) + (1/sC) ]

V(s) = I(s)[ (R) + (sC) ]
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y(t) = 2t + 5

y(t) = t^2 + 5

y(t) = t sin(t)

y(t) = t(1 + t)
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Output is independent of control input

Output is dependent on control input

Only system parameters have effect on the control output

None of the above

What is the equation pertaining to Kirchhoff’s voltage law around loop 1 in
Fig *

Which of the following is a linear system: *

In an open loop control system *
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two phase induction motor

Three phase induction motor

direct current series motor

universal motor

___has tendency to oscillate. *

Any externally introduced signal affecting the controlled output is called a
*

A.C. servomotor resembles *
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s = 1/5
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Zeros

Both a and b

None of the above

If an impulse response of a system is e-5t, what would be its transfer
function? *

For the transfer function given below, where does the zero of the system
lie? G(s) = (5s -1) / (s^2 + 5s + 4) *

By equating the denominator of transfer function to zero, which among
the following will be obtained? *
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Less expensive

Recalibration is not required for maintaining the required quality of the output

Construction is simple and maintenance easy

Errors are caused by disturbances
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Y(s)/X(s)

Y(s) * X(s)

Y(s) + X(s)

Y(s) – X(s)
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C/(S^2 LC+RCS+1)

SC/(S^2 LC-RCS+1)

SC/(S^2 LC+RCS+1)

SC/(S^2 LC+RCS-1)

For open loop control system which of the following statements is
incorrect? *

The transfer function of a system having the input as X(s) and output as
Y(s) is? *

In the circuit shown below, if current is defined as the response signal of
the circuit, then determine the transfer function. *
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X(S)=A(Scos Ø-ω sinØ)/(S^2-ω^2 )

X(S)=A(Scos Ø+ω sinØ)/(S^2+ω^2 )

X(S)=A(Scos Ø+ω sinØ)/(S^2-ω^2 )

X(S)=A(Scos Ø-ω sinØ)/(S^2+ω^2 )

2 points

time, time

time, frequency

frequency, time

frequency, frequency

2 points

v=Ldt/di

v=Ldi/dt

v=dt/di

v=di/dt

Let us assume x (t) = A cos(ωt + φ), then the Laplace transform of x (t) is?
*

Laplace transform changes the ____ domain function to the _____ domain
function. *

The relation between current and voltage in case of inductor is? *
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2 points

simple, multiple

multiple, simple

simple, simple

multiple, multiple

2 points

open

closed

partially closed

any of the above

2 points

Auto-pilot for an aircraft

Direct current generator

Car starter

Electric switch

If the poles or zeros are not repeated, then the function is said to be
having __________ poles or ________ zeros. *

An automatic toaster is a ______ loop control system. *

________ is a closed loop system. *
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Transfer function for a system is given by : [2(2s+4)(s-5)]/s^5(s^2+2s+2)
(s+5). What is the gain factor? *

Transfer function for a system is given by : [2(2s+4)(s-5)]/s^5(s^2+2s+2)
(s+5). What is the number of poles at origin? *

Transfer function for a system is given by : [2(2s+4)(s-5)]/s^5(s^2+2s+2)
(s+5). What is the order of the system? *

Submit

https://docs.google.com/forms/u/0/d/e/1FAIpQLSf5eimKynvILWftXsl2WUeghXJv44GZ0ubRc0YSiKYI_-FQlA/reportabuse?source=https://docs.google.com/forms/d/e/1FAIpQLSf5eimKynvILWftXsl2WUeghXJv44GZ0ubRc0YSiKYI_-FQlA/viewform?usp%3Dpp_url%26entry.1601986315%3DLinear%2Bsystems%26entry.1514985066%3DInput%2Band%2Bfeedback%2Bsignal%26entry.835080981%3D2%28s%252B1%29/%28s%252B2%29%26entry.1640270878%3DZero%26entry.748948729%3DV%28s%29%2B%253D%2BI%28s%29%255B%2B%28R%29%2B%252B%2B%281/sC%29%2B%255D%26entry.1378382925%3Dy%28t%29%2B%253D%2B2t%2B%252B%2B5%26entry.865369061%3DOutput%2Bis%2Bdependent%2Bon%2Bcontrol%2Binput%26entry.606625200%3DClosed%2Bloop%2Bsystem%26entry.955184077%3Ddisturbance%26entry.701305560%3Dtwo%2Bphase%2Binduction%2Bmotor%26entry.636085181%3D1/%2Bs%2B%252B%2B5%26entry.459453979%3Ds%2B%253D%2B1/5%26entry.1896211829%3DPoles%26entry.1114059673%3DRecalibration%2Bis%2Bnot%2Brequired%2Bfor%2Bmaintaining%2Bthe%2Brequired%2Bquality%2Bof%2Bthe%2Boutput%26entry.971603086%3DY%28s%29/X%28s%29%26entry.411291397%3DSC/%28S%255E2%2BLC%252BRCS%252B1%29%26entry.974573164%3DX%28S%29%253DA%28Scos%2B%25C3%2598-%25CF%2589%2Bsin%25C3%2598%29/%28S%255E2%252B%25CF%2589%255E2%2B%29%26entry.1791754435%3Dtime,%2Bfrequency%26entry.617741274%3Dv%253DLdi/dt%26entry.2136038372%3Dsimple,%2Bsimple%26entry.1230689824%3Dopen%26entry.1167630854%3DAuto-pilot%2Bfor%2Ban%2Baircraft%26entry.311365145%3D4%26entry.1607498929%3D5%26entry.1506877344%3D8


3/5/2021 CONTROL ENGINEERING (17ME73/15ME73) IAT 1

https://docs.google.com/forms/d/e/1FAIpQLSf5eimKynvILWftXsl2WUeghXJv44GZ0ubRc0YSiKYI_-FQlA/viewform?entry.1601986315=Linear+syste… 10/10

 Forms

https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

